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1| x| RBHERA4TH 1327F1 Ak HLI#A 2324.00
2| tH#n |RIBEWERLITE 1331F1 Eih Hith 8111.00
3] H# |RIBFEMER4TE 1331F3 i Hith 56.00
4 L |[RBTHERA4TEH 1331%4 HiEH Eih 176.00
Eih 1030.00
5] t#n |RIBEMER4TE 1331%F6 HMEFEH Hith 53.00
6] tH |RIBEMER4ITE 1332%6 Ak EHith 57.00
71 tH# (RIBMER4A4TE 1332%F10 LI EHith 1877.00
8] tHn |(RIBFMER4ITE 1332F11 Eih Eih 14.00
9] tHn |RIBFEMERLITE 1336F1 i Hith 1677.00
100 i |[RBHAERLITE 1336%3 Ik EHith 4596.00
1"l L |[RBHERLTE 1336%5 Ak HLI#A 2822.00
12| L |[RBHAERL4TE 1336%9 Ak EHith 411.00
13| L |[RBTHAERA4TE 1336%F12 HMFEH Hith 80.00
14 L |RBTHERL4TE 1336%F13 EHih Hith 103.00
15| L |RBTHERL4TE 1336%14 Eih Eih 96.00
16| L |RBTHERL4TE 1336%F17 i Eih 0.82
17] L |RBTHERL4THE 1336%18 Mg Mg 31.00
18] i [RIGHEHRATE 1338% f=&Hith g 108.00
19| i [RIGHEHRATE 1343% (L% EHith 247.00
20| tH#1 |RIBETERAITE 1344F1 Ak EHith 2052.00
21| *#y |RIBETER4ATHE 1344%3 Ak LA 84.00
22| t#y |RIBETER4ATE 1344%5 Ak Hith 9.29
23] tH#n |RIBETER4ATE 1345%F1 Ak Hih 187.00
24| tHy |RIBETER4TE 1345%3 Ak Hith 1690.00
25| t#y |RIEWER4ATHE 1345%5 HMETEM Hith 562.00
26 tH |RIBETER4ATE 1345%6 pul Hith 424.00
27 tH#n |RIGMER4ATE 1345%7 bl Hith 182.00
28| tHh |RIBHBEBATE 1345F10 | ARAER MTEH 77.00
29| tHy |RIGHERATE 1346%F H Hith 51.00
30| L |RIGTHABER4TH 1346F1 f=&Hith Eih 38.00
31| xH# | RIBETERATE 1347F1 Ak Hith 428.00
32| tHy |RIBETERATE 1347%3 HMEFEM Hith 39.00
33| xH |RIETERATE 1347%4 [REF Hith 115.00
34| tHy |RIETERATE 1347%5 [REF Hith 473.00
35| i |(RIGTERLATE 1348%F (L% Hith 99.00
36| tH |RIBETERATE 1349F1 XH bl 147.00
37 LH# |RIBEMERATE 1351%F3 pul Hith 425,00
38| tH |RIFEMERL4TE 1351%F4 HMFEM Hith 55.00
39| L#n |RIBEMER4ATE 1351F5 HMEFEM Hith 119.00
40 L |RIGTHAEBATH 1352%1 [REF Hith 4834.00




AERFE2 BEAYE(XNBRENERETOEOICTAIRGEEDIME) (F335EHF)

Lo MEZE

BEERER % P = ) )
41| L |RIGTHBERA4TH 1352%3 [REF EHith 4770.00
42| L |RIGTHBERATH 1352%5 i Hith 143.00
43| L |RIGTHIBEBATH 1352%9 i Hith 329.00
44| t#y |RIBETER4THE 1352%F14 EHih Hith 153.00
45| tHy |RIBETER4THE 1352%16 i EHith 9.35
46| iy |RIFGTER4TE 1352%F17 [REF Hith 675.00
47 tH#n |(RIFHER4L4TE 1352%18 [REF Hith 781.00
48| tHy |RIBEWER4THE 1352%F19 [REF EHith 188.00
49| t#y |RIBEWER4TE 1352%21 [REF [REF 324.00
50 t#n |RIBEWER4THE 1352%22 [REF [REF 132.00
511 t#n |RIBEWER4ITE 1353F1 EHih Hith 19.00
52| t#y |RIBETER4TE 1353%2 EHih Hith 217.00
53| t#n |RIBEMER4THE 1353%3 i EHith 28.00
54| t#n |RIBEWER4TE 1353%4 Eih it 440.00
55| t#y |RIETER4TE 1353%6 i it 31.00
56| tHn |(RIGMER4TE 1353%F7 i EHith 83.00
57| t#n |RIBEMERL4TE 1353%F10 XH Hith 15.00
58| t#n |RIBEMER4TH 1353F12 XH Hith 49.00
59| t#n |(RIGHER4THE 1353%13 i Hith 60.00
60| tHr |RIBETER4ITE 1385%F1 (LI LIk 650.00
61 L#n |RIBEWER4TE 1385%3 LI LIk 123.00
62| tHn |RIBEMER4TE 1385%4 (LI LK 1205.00
63| tH |RIBETER4TE 1385%5 LI LK 58.00
64| tHn |RIETER4TE 1385%6 LI LK 17.00
65| tHn |RIFEMER4I4TE 1386%F10 TP Hith 1633.00
66| tHr |RIETER4TE 2660%3 LI it 370.00
67| tHn |RIGHER4ITE 2661%F Ak Hith 1322.00
68| tHn |(RIGMERATE 2662%F Ak EHith 1586.00
69| tHr |(RIGMER4ATE 2663%F Ak Hit 793.00
700 *#1 | RIATHIER4ATH 2664%F1 (LI Hith 5.07
71| *H | RIETHER4ATHE 2664%F2 LI Hith 1055.00
72 t# |RIETHIER4ATH 2666%F1 LI Hith 427.00
73| *Hr | RIETHMER4TH 2666%F2 (LI Hith 347.00
74| tH | RIETHMER4THEH 2666%3 i Hith 3.35
75| tH#r | RIETHER4THEH 2666%F6 it Hith 21.00
76| t#r | RIETHER4TH 2666%7 it Hith 29.00
77 L | RBTHERATE 2667%F1 [REF Hih 1949.00
78| tH#r | RIETMER4TH 2667%F2 [REF Hith 895.00
79| tHr | RIETHER4TH 2667%3 [REF Hith 20.00
80| tHn |RIFEMER4ITE 2667%F4 [REF Hith 883.00
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81| L |RIGTHBERATH 2667%6 NRAER Hith 1.31
82| tHn |RIEMER4ITE 2667%S8 [REF EHith 2374.00
83| tHn |RIBEMERATE 2667F10 [REF Hith 1158.00
84| tHn |RIBEMERATE 2667F12 [REF Hith 2524.00
85| tHn |(RIFEMEEITE 21F10 LI HLI#A 373.00
86| Lih |RUGTIILERHET 2649%&1 Ak Hih 7608.00
87| ki |RUGTIILRHET 2649%&2 Ak Hih 1811.00
88| Lih |RUGTIILRHET 2650&1 Ak Hih 8156.00
89| LHy |RIFTALEKHET 2650%&2 Ak Hih 862.00
90| t#1 |RIFTALEKHET 2650%&3 EHih Hih 8.22
91| L#y |RIFTALKHET 2650%&4 EHih Hih 2.24
92| L#y |RIFTALEKHET 2650&5 EHih Hih 13.00
93| LHy |RIFTALEKHET 2650%6 EHih Hih 549.00
94| L#y |RIFTALEKHET 2650%&7 EHih Hih 5.32
95| L#y |RIFTALEKHET 2650%&S8 EHih Hih 3.89
96| LHy |RIFTALEKHET 2650%&9 EHih Hih 248.00
97| L#y |RIFTALEKHET 2651&1 Ak Hih 198.00
98| tHy |RIFTALEKHET 2651%&2 Ak Hih 396.00
99| L#y |RIFTALEKHET 2652% L% Hith 396.00
100 i |(RETHILKET 2653%&1 K Hih 1341.00
101 i [RETHILKRET 2653%2 Ak Hih 1191.00
102| i [RETILKRET 2653%4 EHih Hih 368.00
103| i [RETHILKET 2656%3 Ak Hih 439.00
104| i [RETHILKET 2656%4 Ak LA 526.00
105| i [RETHILKET 2656%&5 K Hih 956.00
106| Lih |(RETHILKET 2656%6 Ak Hih 41.00




